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1. 1- The drug which weakens short-term memory is % 8/ »)/ St (/L‘utﬁf # (Drug) I
i sedative %4k (B) tetracycline J:JQ VIZ (A
marijuana t72¢« (D) morphine SA (©)

9. The method of vegetative propagation in mint plant is by Dok & B Ve Ku%“g’g #, U il (Mint) & -2
corms )uf (D) leaves J# ©) suckers }.; (B) stem tubers J/.,»:f(f (A)

(7 Ui 9 VA

heart § b (A)

3. Last two ribs protect the ot &
iver §.£ (D) spleen (o (C)  kidneys § unt (B)
4- The respiratory surface in human body is formed by b 5/ d}-ﬁ'/ﬁu o () &u; -4
cartilage é"’k (D) bronchi (s (C)  bronchiole J1B) alveoli SUssd (A)
o 23 Ok §oH L L Fpl -5
arth o~ (B) sun Cur (A)
.;,m(-/.ym,ﬁmﬁd'“} -6
dendrites U*/kz3 (A)
white matter 241> (C)

5- The primary source of energy for all ecosystem is
water J} (D) plants ¢ (C)
6- The outer region of spinal cord is made up of
neuroglia tf;ua' (B)

grey matter ):z_f (

7. Unfertilized bees eggs develop into haploid malg$ called Ut Fu L3N L u"( S -1
ut 2
kings & (D) queens/ & (C) workers /s (B) drons 35 (A)
8. The name of an antiviral protein is & r'l: ¥ g-ﬁfg{_ d/"bé’;l .,Q -8
insulin &2 (D) interferon W2 (C) fiorin ¢/ A6 (B) myocin  ¢£¥L (A)
9- The expression of genotype in the form of trait is called < gy ¥ R S (Traity e -9
co-dominance ﬂ(}:i-/ (B) dominance J’fdﬁ (A)
genotype <t (D) phenotype <* ¢4 (C)
10- Cartilage forming cells are called Jr SRS IMIPR ﬁb’ -10
. osteoclast T (B) osteoblast =T (A)
chondrocytes Sk (D) osteocytes ST (C)
11 - Charles Darwin proposed the mechanism of organic g’ zfn ('/'l{“x KJ&AQI g POV} ujjgp -11
evolution in
1838 (D) 1836 (C) 1835 (B) 1820 (A)
12 - Carbon becomes a part of body of producers by Dok & [3',.0 K(" L. by o -12
photosynthesis /d'??} (B) carbon cycle Jf’ Lerk (A
metabolism ¢t (D) repiration ﬁ;g, (©)
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2 - Write short answers to any FIVE (5) questions.
i- Write down the symptoms of emphysema.
ii- Write down the primary goal of World Health Organization
to prevent lungs cancer,

iii~ Except lungs on which organs of body smoking affects?
iv- Define homeostasis and write down its any two processes.
v- What is lithotripsy?
vi- Write down the difference between receptors and effectors.
Write down difference between axons and dendrites.

vii -
viii- What is the role of rhodopsin in eye?
3 - Write short answers to any FIVE (B) questions.  (2x5=10)
i- Give functions of bonés.
ii~ What is meant by skeletal system?
ili- Define parthenogenesis.
iv- Define pollination, also give Its types.
v- What Is meant by franslation?
vi- Whatis meant by codominance?
vii- Differentiate between genotype and phenotype.
viii- What are dominant and recessive alleles?
4 - Write short answers to any FIVE (5) questions.  (2x5=10)

i- Wirite down names of two basic components of ecosystem.
ii- Differentiate between food chain and food web.
ili- How smog Is formed? Write down its two effects,
iv- What is meant by environment friendly fuels?

v~ Define biotechnology.

vi- Write down names of any four products formed, by

fermentation,
vii- Write down the use of analgesics.
viii- What s tincture of iodine?

Section - II (2 -

6 = (a) Write down a note on halophytes. (4)
®) Write down detall of cartilage types. (5)
6 ~ (a) Write down the names and functions of four (4)
lobes of cerebrum.
(6 What Is budding? Explain budding in yeast, (5)
also draw labelled diagram.
7 - {a) Déscribe the types of fermentation of carbohydrates.  (4)
® What are sources of drugs? Give examples. ()

&
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1. 1- Allof these are the parts of axial skeleton of human except Zly b o Ku"‘c Jﬁf 1L Uil (l/ﬂ -1.

sternum r7 (B) ribs  %s (A)
vertebral column HKJ £ (D) shoulder gir:ﬂe d)‘f L8 (C)

2. Rhizopus reproduces asexually by 2ok - &/ ‘/,,,, J’ ,,C P u’u (}u -2

T B regeneration =25, (B) binary fission U (A). \

vegetative propagation c/’n“g’;{ %75 (D) spore formation (%) /6 (C)

3. Biotic component of an ecosystem is . g ¥ L K(b"/ £ -3
air I» (D) plant ¢ (C) water [}& (B) light Géu (A)

4- The drugs used to reduce the pain are called it Sl ot s Lfﬁ/w -4
antiseptics J%’/&'l (B) analgesics Jﬁ""U"l (A)
sedatives %4~ (D) antibiotics %4 (C)

5- The gaseous exchange occurs in humans & tn b Kuhfuﬁ Jsul -5

: J’},&/fﬂl
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L oopemne KEumd il iy Q84 pLEsDHCBA w.f/lp[.dtr/ T
..(n/r"w.,«lz s ou/JL///ugLL/r4}rUJ/') wb) e Kl ﬁ:/adﬂ/t fp/b,.ab/dlbf

alveoll skl (D) oronchi Ut d6 (C)  trachea LY (B)  phaynx WU (A)

6- The tube between kidney and urinary bladder is called &« rt ¥ dt s
nephron sk (D) renal tubules %z J* (C) urethra y/’éf,g (B)

7- The base of food chain is always.

L sdk st s esd -8

ureter iy (A)

e n 2ol fus s T

plant 1y (D) bacteria | /:‘é C) sun G (B) animal .9 (A)

8- An antiviral protein. ‘agf:4 ULl -8
interferon uf/.?/‘-’l (D) insulin d-J-rJl (C) thymosin efrél&? (B)  urokinase #uy (A

9. After fertilization in plants, the fruit develops from &, ¥ J’f o LIS Ung -9
ovary wall « s § sl B) ovule wall e s § Jisl (A)

anther < ﬁl (D)
10 - Ali of these are harmones except
pepsinogen /2% (D) glucagon o/ A1 (C) thyroxir u’fzéli? (B)

petals « ¥ (C)

Ly o Uy <10

insulin ¢ (A)

11- Anorganism's expressed physical trait, such as seed E L LG e it S L -11
colour or pod shape is called its < le(: FJ
phenotype b&ﬂ:}é (B) genotype AU (A)
physical type * L"ﬁ/ D) karyotype ~Uy ;.( ©

12 - An example of discontinuous variation is
blood groups ek (D) intelligence =443 (C) weight wJ» (B)
119-(I1T)-15t A 223-69000 ;
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Note: Section I is compulsory. Attempt any TWO (2)
questions from Section II.

2 - Write short answers to any FIVE (5) questions.
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i- What Is meant by cellular respiration? S sl e Hod e i
ii- Degeribe the function of nasal cavity. e PrELUA i
sii- Write down symptoms of bronchitis. -5 4}.:4.:» J J’Kw: -iii
iv- Write down names of four waste materials excreted from plants. s frt Lot g dp b E e uny -1
v~ What is meant by osmoregulation? te dr o St v
vi- Write down functions of hypothalamus. EFIHNLSEL i
vii- What is hypermetropia? Write down its treatment. L F e KU1 S KAy it
vili- Write down the role of somatotrophin in human growth. g J/’ /':/ b Uy af.i)}.!‘y - viii

" 8 - Write short answers to'any FIVE (5) questions.

i- What is meant by ligaments?

(@2x5=10) -Zsfelr ALty (5) §Led/-3
te e o™ i

#i- Why density of bones reduces in osteoporosis? e J{gn u[ cf’ ¥ 230 J (873 J" u;x?’:l -1
iii- How natural vegetative propagation occurs by corms? o an c;': u":-"g:.; ﬁf' 143 2.3 Y )’Jf - fii
iv- How sponges and hydra are reproduced by budding? 0 1S s B L K Mgy o Rry i

v- Difierentiate between breeds and varieties. ZE O A dha -y
vi- What is monohybrid cross? ' te Y et -vi
vii- What is difference between dominant and recessive allele? S S inrﬂuﬂ - I

viii- Write down the bonding between nitrogenous bases G F B e &t Bafl Ut J5 DNA - viil

in DNA model:
4 - Write short answers to any FIVE (5) questions.

i- Define community and ecosystem.

ii- What is role of decomposers in an ecosystem?
iii- Define commensalism and give one example.

iv- Wrlte down any two examples of endoparasites.

v- Write down uses of glycerol.

vi- Define recombinant DNA.
vii- Write down effects of morphine in our body/
viii- Why tetracyelins are not used in children nder

the age of 87
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Section ~ IT (»..«'0

B ~ () Write down the causes and treatment of kidney stone.
) What Is arthritis? Explain lts different types.
6 - ( What is feedback mechanism? Explaln its two fypes.
() Describe the female reproductive system of rabbit
with the help of labelled diagram.
7 - () Differentiate between alcohollc and lactic acid
fermantation.
b What are addictive drugs? Write down their source
and effects of hallucinogens and marjjuana.
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